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For each question from 1 to 28, four oplions are given. One of them Is the correct answer.
Make your choice (1, 2, 3 or 4} and shade your answer on the Optical Answer Sheetl.
{56 marks)

1 A snal hides itseif in its shell when touched.

This shows that the snali 35 a living thing because it ___

(1) breathes

(2 neads fond
{3) can respond
{4)  oconreproducs

2 Which par, (1), (2}, (3) or (4}, hokis the plart upight?

[

N/ 0!
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3 mam{_v)mmmsim&wdimcﬁmdmmntdaammmm

4

rools w3 glom -——% loaves

What is this substance?
(1) water

(2) food

(3) soli

4y air

Which animal has 3 pupa as a stage in ks life cycle?

(1} fog

(2) beatle

(3) chitken

4y gresshoppor

The disgram shows a poir of scissors.

Mata! Is used 10 make the blades of the scissors becauss metal

1y isshiny
{2}  can block ght

{3)  does not break aasily

{4)  can bend without breaking

{Go on o the next page)
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Which of the following substances has a fixed shape?

{1
]
)
)

alr
ik
ol
rotk

4

In which of the following will the wo magnets push each other away?

Lt

~ 2

W

;.ﬂ

8

8
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Which of the following Is a source of Hght?

)]

{3

2}

the moon

4)

@ loaf & mirar

Which of the following s NOT a souwrce of heat?

1y

{2
(3)
(4)

A ligttted bulb
A ¢andle flame
A woollen sweater

{Go on to the next page}
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10 Which one of the following is the besl conductor of heat?
(1) Amstalplats
{2) A peperplats

(3) A plastic plaia
(4) A wooden plate

41 Jane made the following statements on the voung of anlmal P.

* Based on the observalions, animal P is most lkely o be 8 _

)
@
3
)

S ——
o broathes using gilis
s doos not look like the adult

frog
whals
bestle
butterfly

12 Al Mel recorded some information about the. life cycle of a bulterfly and a chicken,

Which of the following oplions shows the comect information about the two ke cycles?

m
@
3
4

Aonly
Aand Conly
BandConly
ABandC

{Go on to tha next page)
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13 Richard noticed that the number of caterpillars in his ganden decreassd afler two weeks, He
wroie dowts some reasons for this obaerwation.

A The caterpillars have disd,
B The caterpillars have taid epgs.
C  The caterpiilars have tumed into pupae.
D MWMWWMWWM
Which of the following are possible reasons o explain why the number of caterpifiars

decressed?

(1 AandBonly
{2y BandConly
33 CandDonly

@ ACandOony

14 The bar graph shows the stages and the number of days that animal Z remains at each
stage of its Iife cycls.

rumber of days

g

s 1

.
s

+

EEFFIIEEER
s /; i’ e
I ¢ '

e

-~ ¥
S A

stage

S ooy tarva  pupa adull
How many days does it take for animial Z io bacome an adult after hatching from its sgg?

1)
{2)
3)
4y

3883

{Go on to the next page)
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15 John wanted {0 find out the magnetic strength of four differert magnets Q, R, S and T. He
moved an iron nail slowly towafts-magnet ) and maasurad the distence when the nall was
just atiracted by the magnet Ha repeated this experiment with magnets R, S and T. The
resulls are shown in the diagram.

ruler

a1} - o

vt [T} —

Moagret S D: i s

vout [T | e

Besed an the abova resulls, the megnetic strength of

%
(2
(3}

)

Magnet § is the graatest.

Magnets Q and R is the same.

Magnet Q Is losser than Magnet R.

Maignat T it prese Saali Magihiot 8, -~~~ 7wt Tm 0 e e

{30 on o the naxt paga)
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16 Two objects X and Y are placed on a balance as shown,

g

L

Based on the diagram. which of the following siatements is correct?

m
0
@
#

Object ¥ has less mass than object X,
Object Y has more mass than object X,

Object Y has o bigger volume than object X.
Objects X and Y are made of e same matedial,

17 Gaoge fills up a long balicon with air and twists i to form a balioon ardmal as shown,

tveist
ﬁ“@

balloon animal

Which of the foliowing statements best explains why he is abla to twist the long balloon

long balloon
info & ‘batioon animal*?
{1) Alrhasmass.
{2) Air occupies spacs.
{3}  Airdoes not have a definite shape.
{4}  Alrdoes not have a definffe volume.

www.testpapersfree.com
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18 Lesla wanted to find the volume of her oy animal using the beaker shown,

baaker

toy anlmal

The following are the steps that she took 1o find the vokumne of the toy animal.

A Read the new volume of water,
B Fili the beaker with SG0 m¢ of water.

L Lower the toy animal genily into the beaker.
3 Colcuinte the difference betwesn the old and now volures,

Which of thi following shows the correct sonuence of sleps she took to find oul the volume

ofthe oy animal?
{h ABCandD
{2 B,ACandD
{3y 8,C,AasndD
iy C,BAsndD
18 Al recorded tha properties of P, Q and R as shown,
" Does Rhave .iootﬂhﬂaa Mama Canitbe
e L tennE ang ... seBnite
volume? _~___11_a£o?_ _volome?
P HNo Ne No No
a Yos Yes Yoo No
R Yo 'No No Y88

Based on the lable above, which of the following cormactly ideniifies P, Q and R?

P a R
) | Baikoon Pen ~Sponge
73] Light [ Pen e
5 AT [T Mk “Pen
1) Heal r Fen il

{30 on 16 the next page)
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20  Atthe stert of her expariment, Jane had a container that contains thvee substances A, 8 srd
O as shown. Then, she added more of substance B indo the container using the one-way
punp. The final levels of substances A, B end C at the end of the experiment ars shown in

the diagrams.
‘T. connected
| {o a psmp
A A
B B
¢ contalner ¢

Siart of axperiment

o
connacted
= {o a pump
End of axperiment

(after morg of substance B was added)

Based on the diagraims abave, which of the folflowing cotrectly Identifies the state of

substances A, B and C?

A 8 c
{1 Gas Liquid Solld
(2) Liquid Solid Gay
[£)] Liquid Gos Solid
{4) Gas Solid Liguid

www.testpapersfree.com
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21 James is able to see an object In « brighity-it room. The arrows {«» } in the diagram show
the paths of light.

22

Which of tha following identifies P, Q and R correctly?

- Q R
Y1 ight sonrce ~ James' eyes ebiect
@] Jameseyes Tight sowrce object
@Y | gt source “ohject Tomes eyes
& object Jomes eyes gt source

Edison-placed a hall in the middie of a melal box with four hollow tubes and 3 ighs source
85 shown in the diagram,

m
{2
3
@)

b A

:\\];/

tubs B

O & W

www.testpapersfree.com

iight source
wbe g
-~ bR
{hung from a siring)
wbe D
metal box

‘Based on the diagram above, through which tube can he see the bak?

{Go on to the next page)
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23 Study tha flow chart sarefully.

“Object

13

Basad an the flow chart above, which of the following best represants objacts &, R and

87
Q R 8
Th) frotted glass thick cardboerd clear plastic sheet
)] thick cardboard frosted glass clear plastic sheel
& thick cardboard clear piastic sheet fidsted gass
@ | ciear plasbc sheol frosted glass thick cardboard
{Go on to the next page)
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24 Colin carried out an experiment in 3 dark room using the sebbp as shown.

m@}[]

Iit torch obiect A
acraan

When ht swilched on the torch, he saw the shadow of object A on the screen as shown in
the diagram below.

—3— steen

- ! . shadow of object A

Based enly on the observation above, which of the following slatements is trse?

{1}  Object A did not allow light fo pass through,

{2)  Cbject A sliowed most light o pass through.

i3}  Theshadow thanged shape when the screen was moved nesrer fo objact A,
(4}  The shadow changed shape when the screen was moved furthes from object A.

[Go on o the next page)
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25 Edmund walked i a stralght fine from P to R as ghown in ihs disgram. AL @, ho was
directly under the lamp. The Ulitance betwean P and Q Is the same as the distance
between Q-and R.
? lamp
IS
o
P Q R
Based on the diagram above, which of the following statemerits Is correct about the
tength of Edmund's shadow? '
{1)  His shadow was the longest when he was at Q.

2
(3)
4

His shadow was the shodest when hewas &t Q.
Asg he watked from P to Q. his shadow bacame longsr.
As he walked from Q fo R, his shadow becaime shorter.

26 Andrew placed sn lce cube into a beaker Ried with hot water.

3 —— beaker
_'-_j_-» EF_ — o8 cubé
— =4 . hotwater

Which of the folowing statements is correct?

()
@
®)
4)

The ke cube lost heet to the water.
The water lost heet to the ice cube.
The va cube did not gain or fose heat.
The water gelned heat from the beaker.

{Go on to the ned page)
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27  Boladilled up two glassss with the same amount of walter. The temperatures of watsr at ths
start of the experiment 2re as shown.

waler at 90°C water at 30°C

Bola then mixed alt the water from both glasses into a large container. He immediately
measwed the lemperature of water in ihe large conledner.

Basad on the Information glven above, ﬂwmnpmmdmhshhhmemmm
that was immediately measured by Bala was

Mm_we
2) mgheman ot°C

{3) bhétwaen D°C 1o 30°C
{4) betwean 30°C to 90°C

{Go on to the next page)
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26 Danny atisched a balloon to an emply botle. He then immersed the bottle (n a basin of

wastar at 70PG az shown.
batloon
ety bottle ———
= =1 basin of water at 70°C ——
At the start of the experiment B minides into the experiment

After a while, the balloon was ohearved to have changed its shape.
Which of the foliowing statsments best explains this observation?
(1)  The balloon gained heat and expanded.
(2}  The emply bollle galned heal and axpanded,
{3}  The air in tha bottle gained hesat and axpandead.

{4) Tha airin the bakoon conracied and ook upss spacs.

{Go on to Booklst B)
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For questions 29 to 41, wrile your answers in this bocidlet.
The number of marks avatiable is shown in brackats [ 1 at the end of each question or part question.

{44 marks)
20 Draw lines to match the following animals to the comect groups, 3]
Animals Groups
v bird
[ ]
v flish
»
»  mammal
»
» amphiblan
a0 (a) The diagram shtws parl.of the hwnan'dmasﬁve system.
Tiek one box to show where the gullet is. [1
(b} Fillinthe blank using the following helping words. !}

large intestine stomach small Intestine mouth

Food from the gulet is nexd passed on fo the

{So on 1o the nsxt page
Score

5 ]
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31 Andy placed two ring magneis, A and B, through a holder as shown below.

- maghet A

magnol B

{(8)  The holder was made of plastic and did not attract the magnets,
Plasticis a material, | (1

(b)  Why was magnet Afloating sbove magnat 87
Magnet B was magnet A, 4]

32 Classify e following intky matler and non-matter. ]

honey shadow marble

www.testpapersfree.com
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33 ‘The diagrem shows the e cycie of a cockroach,

{a@)  Label the two missing alages In the bones provided above. My
Thohbh@ewbasﬂwlﬁamdim#aam.ﬁ@.ﬁmd 8.
Description P qQ R 3
Young resambles the adult x| v v 7
Has ihvee stages in i Wie oycle X v x g

b Baaadoaﬂmmbha%%@am#.-&ﬂm&bmw%ammaﬁi

{c} Mﬂmmmm.mmmmm&mdmﬁaﬁm;}
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34 Study the dlassification chari carefully.
Aniaals
I
] {
Thieo-stage life cycls Four-stage fife ¢ydle
3 I
| ] ] n
Lay eggs in Lay eggs on Lay aggs In Lay eggs on
waler fand wabsr fard

I |

A B G 2]
()  Based on the classificaion chart above, describe animal A 13
&)  Stale one difference botween animals B and C. (1}

e} () Based on the dlassification chart above, which animal, A, B, C or D, best
represents a mosquito?

M

() Amosquito is considered a pestas it spreads diseases such as dengue fever.
The picture shows a stage in the ife cydie of 2 mosquito.

Based on the picture, explain how applying a faver of oil on the surface of the
pond watar can help to controf the number of adult mesquito. (1]

Go on 1o the next
Score
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38 Peler has a container with a capacity of 250 cm?. it has $00 cm? of waler inside. He connecled
& purnp fo the conlainer and pushed the plunger of the pump once. Each push pumps 50 cm? of

girinto the container,

He—-

b—. container

1o . |
phanger pump NS T T T T T T 47— 100 om® of water

{a) Inthe table below, write down the volume of air In the container before and after air was

pumped into the contalner. 2]
Volume of air in container before | Volmme of alr in container after air
alr waz pumped (cm®) was pamped {cm}
{b) What propesty of air is shown in this experiment? in

Next, Peter took fowr identical beakers, K, L, M and N, He placed four stones of a different volume
intc each beaker, Then, he filed each beaker to the brim with water as shown in the diagram.

. beaker _ o S e —
ofwater (T ~=--" @ [T -
stone —mm
o)
M

{6) Which of the beakers, I, L, M-or N is filled with ihe greatest amount of watsr? M)

[Go on 1o the next
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3 Jason conducted an experiment using two simitar containers A and B, each fitted with a glass tube
and a funnel, He put 4 stopper In the glass tube that wes fitted into container B. Next, he poured
walgr inlo each funnel.

funnel

{a} inwhich container, A or B, can water flow in fasler? 1]

Jason conducted another experiment with fwo identical plastic cups X and Y. He inverted both
cups iinto a basin of water. One of the cups had a hole al the bottom while the other cup did
ot have any holes. The result of the experiment is as shown,

cup X capY

“~~-basin of waler

(b} Based on the diagram above, which cup, X or ¥, had & hole at the boitom? {1

(c} Explain your answer in part {b). f2]

(5o on to tha next page
Score 4
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37 Temy wanted to find out how the distance hebween the lamp and the object affacts the height of
the shadow formed on the screen. He set up an experiment as shown.

£ disiance between
& tamp and object

iamp

He recorded his results in the table below,

Distance between lamp and Height of shadow formed on
ohjoct (cm) the white scraen (em)
20 7___
15 )
10 11
5 13

{a)  Predict the height of the shadow formed on the white streen if the distance between the
famp and the abject is 6 cm.

BP-606

Wt
- U S L P

{b) Where should m_sﬁbjembe placed so that the height of the shadow is the same as the

height of the object? i
(¢}  Bassd on the rosults in the table above, what coukd Terry conclude? o
{Go on to the next p
Score s
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38 Devi shines a lit torch on & soft deink can from positions 1 and 2. As a result, shadows are

formied on screens A arvd B.
it torch at
position 2
soft drink '
can soresn A
lit torch at

(a8} Name the shape of the shadow thal Devi will sge o screens A and B.
Fill in the blank uslng the foloming helping words.

circle triangle reciangle square
Screen A (1
Screen B: 1]

(b)  Based on your answer in part (a}, what does this experiment show ebout the effect of

. the position of light sowrce on shadows formed? . . R | I

{c) Dembehowﬂmofﬁmshaﬂuwm!change%mﬂemummvedebsaﬂo
the object, L)}

(d)  Bxplain your answer o pert (c). il

{Go on to the next page

Scors

8
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39

W0

Jimmy prepared the following set-ups as shown in the diagram.

-

ﬁd\_‘i

mitk at 80

oup

second cup

\ 11

Set-up A Set-up B
The temperature of the mitk In each set-up is recorded at ten-minute idervals as shown
in the table below.
Yime {minute)
: 18 20 F 4+ £0
Tempoeraturs {*C) of '
milk In sst-up A B0 &0 40 25 25 25
[ Tamperaturs {°C) of
milk in set-up B 80 70 80 1 40 | 2 25

(#)  Which set-up, A or B, kept the miBk warmer for a Jonger psriod of me?

Set-up

{b)  Explain how the set-up stated in part fa) helped keep the milk warmer?

i}

M

{c)  Explain why thers was no difference in the tamperaturs of mitk between both set-ups

from the 40" minute orwards.

1

www.testpapersfree.com
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40  Kieran caned oul an experitnent to investigate how fast heat is lost from a fest lube and a beaker
as shown. The lesf tubs and beaker each conlained a different amount of hot water at 60°C.

tesnperature sensar

hot water at 60°C

set-up X {test tube) setup Y (besker}

The temperahurs of water i ths test tube and beaker was faksn using a temperature sensor
over a peried of {ime, The fable balow shows the results.

Temporature of water (°C}
33 rst) 20 28

get-up X (test tube) 80 45

_sotup ¥ (busker) 60 52 45 30 36 32

" (a) Whatls the changed varisble in IGeran's experiment? (1]

(b} Based on the resulls above, what can you conclds about how fast heat is lost from the
hot water in set-up X compared fo the hot water in set-up Y? Explain your answer, (2]

{Go on to the next p
Score
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41 Kelvin had two glasses that were lightly shuck as shown in diagram 1. He managed % separats
them by dipping glass B inlo & basin of hot waler as shown in diagram 2.

glass A basin of
hot water
glass B == -
diagram diagram 2
{a} Explain how placing glass B into a basin of hot water enabled Kelvin to separale the two
4]
()  State another method to separaie the Iwo glesses. [1}

Go on to the neat
Soore | 2 |
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A metal rim can be filted fightly around s wooden wheel using the following steps as shown in e

Step 1: " Stép 2 Step 3: The matal im is
Thepmet‘al nm is The heated metal rim is fitled poured over by cold
hested. around the wooden wheel. waler,

{c} Based on Kelvin's experiment, explain how sach of the following steps helped fit the melal
rim tightly arownd the wooden wheal. #]
_7 _ - __ e
1. Tha matalim s -
hoated.

3. The metal rim s poured
over by cold water.

End of Paper Score 2
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{b) Air is a bad of cpnduc,tqr of heat, the air space between first cup
and second cup of B will cause heat to conducted out slower.

Pg2
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Q33}) (a) First box: Egg
Second box: Nymph
(b) Animal Q
(c) Both animal’s young, resembles its adult-and does not go
through mouiting. .
| Q34) {a) Animal A has three - stage life cycle and it lays eggs in water
(b) Animal B have a three — stage Ii.fe' cycle while Animal C have a
four - stage life cycle
(c) (i) Animai C
: ('ii) Applying a layer of oil on the surface helps to block the |
breathing tubes of the adult mosquito, making it difficult to
survive, hence fewer young will develop into adult mosquito.
1Q3s) (a) 160, 150 _
{b) Air has no definite volume and it can help compressed.
(c) Beaker K
Q36) (a) Container A
(b) Cup X
(c) The water level in Cup X is the same as outside, showing that
water flowed into the cup. Hence, there should be a hole at the
bottom to of Cup X so that the air in the cup could escape,
= T allowing the water thatoccupied space to displaceit, - v e e e
Q37) {a) 12 _
{b) The object should be placed just before the screen.
(c) As the distance between the lamp and object increases, the
_ height of shadow formed on the screen decreases.
Q38) {a) Rectangle, circle
(b) Thé different positions of light source affect the shape of the
object formed on the screen. '
{c) The size of the shadow would be smaller.
~ {d) The object is blocking a smaliler area of light.
[Q39) | (a)B ~



(c) The temperature of the milk at 40 minute is 25°C and it is the
room temperature. Therefore, it would not lose of gain heat from

the surroundings.

Q40) (a) The amount of water.

(b) The hot water in X lost heat faster than the water in Y. As the
volume of watsr in X is lesser than Y, the heat lost of X will be
faster.

Q41) (a) The air in glass B gained heat from the basin of hot water,

expanded, and become bigger. Hence, the gap between the two
cups increased, causing it fo be able to separate easily.

(b} Putice cubes in glass A.

{c) (i) the metal rim gained heat from the heat source, expanded,
and become bigger causing it to be able to fit around the
wooden wheel
(i) the metal rim lost heat to the cold water, contracted, and
become smaller. Hence, the gap between it and the wooden
wheel become smaller, causing them to be fitted tightly.

Pe3
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